
RANKING TEST



• Q1. Akash ranks seventh from the top and twenty-
sixth from the bottom in a class. How many 
students are there in the class? 

• (a) 31

• (b) 32

• (c) 33

• (d) 34



• Q2. If Atul finds that he is twelfth from the right in 
a line of boys and fourth from the left, how many 
boys should be added to the line such that there 
are 38 boys in the line? 

• (a) 22

• (b) 23

• (c) 24

• (d) 30



• Q3. Ravi is 7 ranks ahead of Sumit in a class of 39. 
If Sumit’s rank is seventeenth from the last, what 
is Ravi’s rank from the start?

• (a) 14th

• (b) 15th

• (c) 16th

• (d) 17th



• Q4. Mohit is seventeenth from the left end of a 
row of 29 boys and Karim is seventeenth from the 
right end in the same row. How many boys are 
there between them in the row?

• (a) 3

• (b) 5

• (c) 6

• (d) Data inadequate



• Q5. In a queue, A is eighteenth from the front 
while B is sixteenth from the back. If C is twenty-
fifth from the front and is exactly in the middle of 
A and B, then how many persons are there in the 
queue?

• (a) 45

• (b) 46

• (c) 47

• (d) 48



• Q6. In a row of girls facing North, Meena is 10th 
to the left of Pallavi, who is 21st from the right 
end. If Salini, who is 17th form the left end, is 
fourth to the right of Meena, how many girls are 
there in the row? 

• (a) 37

• (b) 43

• (c) 44

• (d) Data inadequate



• Q7. In a row of girls, Rita and Monika occupy the 
ninth place from the right end and tenth place from 
the left end, respectively. If they interchange their 
places, then Rita and Monika occupy seventeenth 
place from the right end and eighteenth place from 
the left end respectively. How many girls are there in 
the row?

• (a)24
• (b)26
• (c)27
• (d)Data inadequate



• Q8. In a row of girls, Nithya and Suganya occupy ninth 
place from the right end and tenth place from the left 
end, respectively. If they interchange their places, 
then Nithya and Suganya occupy seventeenth place 
from the right and eighteenth place from the left 
respectively. How many girls are there in the row?

• (a) 22
(b) 24
(c) 26
(d) 28



• Q9. In a queue of children, Arun is fifth from the 
left and Suresh is sixth from the right. When they 
interchange their places among themselves, Arun
becomes thirteenth from the left. Then, what will 
be Suresh’s position from the right?

• (a) 8th
(b) 14th
(c) 15th
(d) 16th



• Q10. In a row of boys, A is thirteenth from the left 
and D is seventeenth from the right. If in this row 
A is eleventh form the right then what is the 
position of D from the left?

• (a)6th

• (b)7th

• (c)10th

• (d)12th



THANK YOU




